Form 1-698 R3
October, 1999

SNOW PLOWS
Parts & Installation Instructions
Model “Vector” 8.5

Snow Plow

ITEM 26 OPEN END OF HOOKS
2 MUST BE FACING DOWN ON ITEM 22

Parts List
Item 8.5 Qty. Description Item 8.5 Qty. Description
09258 | 2 Moldboard R.H. & L.H. Wing 16506 1 A-Frame and Pivot Carton
1 09254 1 *R.H. Wing 22 13625 1 * Pivot Assembly
2 09255 1 *L.H. Wing 23 13630 1 e A-Frame
3 09259 1 *Cutting Edge (2 sections) 24 07178 2 * Wing Spring
08692 1 *Hardware Bag 25 07069 1 * Hinge Pin
4 21961 8 e+ Bolt C 1/2-13 x 2 Gr. 5 26 07216 4 * Trip Spring
5 22066 | 2 ** Bolt C 1/2-13 x 2-3/4 Gr. 5 11793 1 e Lift Arm
6 20307 | 10 | < Locknut 1/2-13 09916 1 * Plow Marker Kit
7 09126 | 2 *Runner & Spindle Assembly 08687 1 *Hardware Bag
8 07006 1 e+ Runner 27 07031 6 e+ Eye Bolt Cap
9 12057 1 e+ Spindle 28 12396 1 e+ Pivot Pin
10 20363 | 10 | << Flatwasher 1-1/4” 29 09124 6 *+ Eye Bolt w/Locknut
11 22083 1 eeLinch Pin 30 11101 2 *+ Hinge Pin
12 | 20101 1 ** Bolt H-1/2-13 x 3” 31 22083 2 e« Linch Pin
13 | 20307 1 * e Locknut 1/2-13 32 20421 1 e Cotter Pin 1/4" x 2-1/4"
12170 1 Snow Deflector KIT (OPTIONAL) 33 12198 1 e+ V-Plow Center Edge
14 12189 2 *Deflector 34 12381 2 e+ Center Plate
15 | 12191 2 *Bar 35 20357 1 e+ 5/8 Flatwasher
16 12277 1 *Reinforcment Bar 36 20328 1 e+ 7/16 Lockwasher
17 12285 1 *Center Deflector & Decal 37 20354 1 e+ 7/16 Flatwasher
08691 1 *Hardware Bag 38 20072 1 e BoltH 7/16-14 x 1-1/4”
18 | 20006 | 18 | *+Bolt H 1/4-20 x 1-1/4” 07996 1 e+ Cable Tie
19 20312 | 18 e+ Nut, Eslok 1/4-20
20 12275 2 ** Angle
21 12276 2 * * Deflector Extension

Parts indented are included in the carton, bag or assembly under which they are indented.

When ordering parts, furnish Part No., Name, and Description. Also furnish Vehicle Model and Year, Type of Hydraulic
Unit and Moldboard Size.

Meyer Products reserves the right, under its continuing product improvement program, to change construction or design details,
specifications and prices without notice or without incurring any obligation

© 1999 Printed in U.S.A. d 18513 Euclid Ave., Cleveland, Ohio 44112-1084
e WPRODUCTS Phone 486-1313 (Area Code 216)



© 1999 Printed in the U.S.A.

INSTALLATION INSTRUCTIONS

Note: The following instructions cover assembly of Moldboard
Wings, Pivot Assembly and A-Frame. Refer to separate
instructions for installation of plow mounting and hydraulic
system.

A. Assemble Pivot Assembly (22) to A-Frame (23) using Pivot
Pin (28) and Cotter Pin (32). Note: Liberally coat Pivot
Pin with a chassis grease/anti-seize lubricant.

B. Assemble Eye Bolts W/Locknut (29) to Trip Springs
(24&26). Install four Trip Springs (26) onto Pivot Assembly
(22). (Open end of hooks must be facing down on pivot
assembly.)

C. Guide Eyebolts into A-Frame (23) Attach Eye Bolts (29) to
A-Frame (23),

D. Make certain each Eye Bolt (29) is in a vertical position as
shown in figure 1 so that the Eye Bolt (29) and Trip Spring
(26) hinge properly when moldboard trips.

Note: Proper tension is attained when Trip Spring (26) coils
just begin to separate and then tightening top locknut four
additional turns.

E. IMPORTANT : PIVOT ASSEMBLY MUST BE TIGHT
AGAINST A-FRAME STOP.

F. Assemble L.H. & R.H. Wings to Pivot Assembly using Hinge
Pin (25), Washer 5/8 (35), Lockwasher 7/16 (36), Washer
7/16 (37) and Bolt H 7/16-14 x 1-1/4” (38).

G. Install Power Angling Rams per separate instructions.

H. Install Wing return Springs (24) using Eyebolts (29) and
adjust springs to proper tension.

I. Discard lift arm in mounting carton (10514).

D)

Figure 1

W 18513 Euclid Ave - Cleveland, Ohio 44112-1084
e W PRODUCTS Phone 486-1313 (Area Code 216)





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Swiss721BT-Black
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


